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11.

12.

13.

14.

Unit 1

The advisor recommended that I studies Japanese.

A. students B. student C. student’s D. students’
There is a limit of for each passenger.

A. two piece luggage B. two baggages

C. two pieces of luggage D. two baggage piece

I ate a steak, a salad, and with butter for lunch.

A. an ear of comn B. a com C. a corn ear D. one corn
We have installed to improve the efficiency of our research work.

A. an equipment B. a piece of instrument

C. a new piece of equipment D. a piece of new instrument

The is just around the corner, and you won’t miss it.

A. bicycle’s shop B. bicyele shop C. bicycles shop D. bicycles’ shop

Many in this bank speak English quite well.

A. lady clerks B. ladies clerks C. women clerks D. both A and C
They were not enough to admit their mistakes.

A. men B. people C. man D. gentleman
No matter what difficulties may come , We must never give up.

A. the way B. the path C. our way D. our paths
As far as the could see all was and green .

A. eyes ... flowers ... field B. eye ... flowers ... fields

C. eye ... flower ... field D. eyes ... flowers ... fields

Bob seems to have too and too

A. many mouths ... few ears B. big mouth ... small ear

C. much mouth ... little ear D. little mouth ... big ear

This is where of the Amazon flow out into the sea.

A. the waters B. the water C. waters D. water

The farmers suffered great losses from the bad crops, yet they didn’t lose

A. heart B. the hearts C. their hearts D. the heart

The are questioning the two
A. polices ... thiefs B. policemen .. . thiefs
C. police . .. thieves D. policeman ... thieves

The electrician checked all electrical equipment to prevent any possible failure.
a1



A. power B. light C. energy D. electricity
15. These trees were planted, and those were hand planted.

A. mechanics B. machinery C. mechanic D. machine

B (1): &

RFIEDS: (5) The is just around the corner, and you won’t miss it.

A. bicycle’s shop B. bicycle shop C. bicycles shop D. bicycles’ shop %% B, &84k %
& R AEB, LA K T, HBS%E @69 %93, BP bicycle 545 shop,

MIRES: 1. ALFELE, AB8HHA — £ ILFEHF R D A, dwpost office, lunch
time, shoe factory, flower shop %,

2. MEMMKT XEFF F—EEEG S RE AL EM’s £, 40 two X’s, three A’s,
too many but’s, in his 50’s, 3 do’s and 3 don’ts( =% = K% ) [ {2 £ don't's # X, ], Mind your
p’s and g’s. (EFEMAE, ) [ please’s #= excuse me’s #) 45wk ] ,1990°s[ 1990s &5 4 B ik & RAF 4
4,42 B aTREAT ],

3. VA man #» woman £ E&) 8 493, — A& i@ 13 48 £ T L & men Fo women, £ H R B #,
12y $ 34 3k, LBt B s #&, ¢ Germans, Romans %,

4. FERTRELELEEZMFEILT TR TH, 4= hair( £, 8 ) R T4, The man has grey
hair now. (ARAAILERE CEG )22k TG —RK SR EL, W A TH, There are
a few white hairs on his head. (#.k EH LR G K ,)

5. work( L4E), & 49 4 2% 3% homework ( 45 3. ) , housework ( £ 4 ) F,# A R T4, 12
work & FAE SR B, B A T, 4 a work (works) of art( —#( 4 ) & R), works( L), L.
#2156 ) A LA HF 7, 4= one (two) steel works( —( %) F4A4k) ),

6. money(4%) 4 $4Kk, R T H, F1HE,change( T4, K) R TH,

7. VPAs 8B4 means( ik, FR) , LA KB K, E A FIB, 4o all means H 5 3K, every
means # £, series( &5, &5 Z—) ,species( M #) F 5 ik dm itk
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Unit

. His daughter is always shy in

2

and she never dares to make a speech to

A. the public ... the public B. public ... the public

C. the public ... public D. public ... public

I am at least age Robert if I am not older than he.

A. the same ... as B. in the same ... as

C. as same ... as D. same ... with

— Where’s nearest bookstore?

— There’s one at end of the street.

A. the... an B. a... the C. the ... the D. a... an
My mother is usually on duty in her office every few days.
A. the... a B./...a C. a... the D./.../
Most of boys in our class are interested in biology.

A /... / B. the... / C. /... the D. the ... the
The doctor told me to stay for at least three days because of my illness.
A. in my bed B. in bed “C. in the bed D. in a bed

This math exercise is

one to work on this time.

Paper money was in

most difficult exercise, but it isn’t

A. a... the B. the ... the C. the... a D.a... a

. The student who receives highest score will be awarded scholarship.
A /.. B. /... the C. the... a D. the ... /
The furniture on display is on sale for half price.
A /... 7/ B. /... the C. the... / D. the ... the
What did you do last night?
A. on earth B. in world C. on the earth D. on the world

use in China when Marco Polo visited the country

in thirteenth century.

A the... / B. the ... the C. /... the D./.../
We saw one-act play in our school’s auditorium.

A a B. an C. / D. long
Africa and Asia are separated by Suez Canal.

A a B. / C. the D. one

On Children’s Day, all

parks in the city were crowded with children.
.3

most difficult



A. /... the B./...7/ C. the ... the D. the ... /
15. A thief is a danger to

A. society B. the society C. societies D. a society

inﬁ:?(z) : Eiﬂ

KA i%EH: (11) Paper money was in use in China when Marco Polo visited the
country in thirteenth century. A. the .../ B. the... the C. /... the
D./.../ %%C, #—=HRHALA, B A (be) in use H 7 #; % = F KA T R 19 the,
B 4 5 & & 5 #19 thirteenth,

MIRER: 1. AFRILR” 4540 E A9 the, = try the second time (X H =K), 12
A AFARAEZRZM a(n), 4o try a second time, A #(3 third, fourth ¥ Fl &, THRMAF
—(=E W REHX—K,

2. 44 Day #9% B £ 4RaT, 3 1] £ &K Hv the, 4w Christmas (Day) , May Day, Children’s
Day, National Day %,

3. space( K F ) R Awd 7 jthe universe( F & ) & ML E 35, space( TN ) —M& A RTH,
LRI, 1248 BAKM R 3k B E B, TVl A TR Ao & 9], 4= He couldn’t find a
parking space. /The space of the room is insufficient. /Leave two spaces after a full stop. ( 8] 5 )&
Z )

4. JiEmE R AL E FILE, 4o all of a sudden( T KX ), at a time(H—KH),in a
word( % & Z ) ¥ sm R £ & ;in the moming, in the end, in the distance (£ 4L ), in the
fields( /£ & %7 ) % A0 2 & 34 ; at noon, under way ( Z£i# 47 F ), in hospital (/£ EF’E) F R e
FAL
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Unit 3

Mr. Alcott, headmaster of the school, refused to accept of the three suggestions

made by the Students’ Union.

A. either B. neither C. any D. none
I've read English for twenty minutes. I want to read minutes.
A. a few more B. more a few C. a little more D. more a little
Mr. Zhang gave the textbooks to all the pupils except who had already taken
them.
A. the ones B. ones C. some D. the others
We can do it better than .
A. him and her B. he and she C. his and hers D. he and her
He considered right to go together with us.
A, that B. him C it D. himself
— Do you speak Japanese or Russian?
— I don’t speak . That is to say I speak neither of the two languages.
A. both B. either C. all D. none
. I like some of them.
A. Either book is good B. Both of the books are not good
C. Not all the books are good D. None of the books is good
of the two brothers is satisfied with the result.
A. Both B. Either C. Every D. None
cannot be denied that Mary is the most diligent student in her class.
A It B. That C. There D. This
One should always be careful of health.
A. his B. her C. their D. one’s
There is very hope that our team will win the game.
A. little B. a little C. small D. few
I have already spent one week at the summer camp, and I will stay for weeks.
A. else two B. other two C. more two D. another two

His answer to this maths problem seems to be the same as
A. yourself B. yours C. you D. your
— Are the new rules working?

— Yes, books are stolen.



A. Few B. More C. Some D. None

15. 1 can’t believe that the teacher blamed students for the failure of the experiment.
A. we B. our C. us D. both B and C
iBiE(3): K
X% R: (14) Are the new rules working? — Yes. books are stolen. A. Few

B. More C. Some D. None %% A, &{BLTXEE, &8 Few(iRY ,JL-FRA), B #F
MR AR, BRIRS KRG, Hk D, H % None T ft4F & 354545 books, # No F Tk,

HiRZE S : 1. by oneself( 1% A1 ) , %= Julie made the experiment by herself; for oneself( #
B 3 ) , 4= If you don’t believe me, you can go and see it for yourself; of oneself( & 3h#&) , 4= The
door won't close of itself; to oneself( 3% A 3. ) , 4= I have the bedroom to myself.

2. EEIJREM(RAE) b ,it 89&E RS M, 1249 K4k, 4= The train won'’t leave
for another ten minutes, so I think we can make it(#f L ). /The swimmer made it to the other
bank ( &1k 4% # ) despite the waves.

3. that & this, £ £ X %% P % A 48113, KX % so, 4w [ know only that much. (£ R 4eid
4otk % ,)/He can’t walk this far. ({0 R4k £ AR 2L ,)

4. many #9348 65 7% 18 X, 4 many more, % 7R & much more, & A % B %, 40 | have
many friends, but he has many more (friends) than L

5. few Fo little 49— 4G BB RA K E L, LRITH, 4o quite a few( 8% £ ), quite a
little(#8% %), a good few(#8% %), not a few( R, % %), not a little( R ¥, %), no
little(#F %)%, BH,Pm not a little (no little) tired. (& 4E % & 5 ,) # I'm not a bit tired.
(R—ELREE) KA EA,

"6 one U R(KZ)—"M, B that FFA(RAKRY) — (M) B, EERHAELETIXFAR

#],% A desk made of steel is stronger than one made of wood. /There are two desks here. The

desk made of steel is stronger than that made of wood.

7. BEAATALIHEL AN, not ... either #= neither ... F X AF, 4= He didn’t read
either of the novels. % F He read neither of the novels. 3% 4E“ 4o #38 \ HLERE A AiL” M.

8. &&“HIF(ILA)” 89 %35 % another (... ) &K (... )more, %= I want to have another
two books. /T want to have two more books. (&K BFEZH A )

9. E®EA of... #5458, every one R 4 B ,none A4 , 42Every one of the students
attended the lecture. [ < 4& A Everyone & Everybody ] /None of them is fond of music. [ R #& A
No one]

10. some M k4545 5T 2 & 33 £ 4 ot , & F a certain, 45 “ ¥ —" ##, 4= The professor is
expecting some student( F# % ~%¥ 4 ) in his office.

11. % =% “How many (much) + B4k H" 6515 M8+, A none £ & F7“— A (4 2) &
& A" ,4°How many books are there in the desk? — None. ( There are none. ) ; % © 2 “Who
(What) ” & 1] # 8, A nobody ( nothing) k & & “ & AT A (K &)”, d» Who is in the
classroom? — Nobody. (No one. )/What is in the desk? — Nothing.

.6 -




Unit 4

. It cost me five yuan to buy
A. two dozen egg B. two dozen of egg
C. two dozen eggs D. two dozens of eggs

. — Where did the great poet live when he stayed in Paris.

— He lived in a old house.
A. three hundreds years B. three hundred years
C. three-hundred-year D. three hundreds year
. There is someone on who wants to speak with the manager.
A. 2 line B. 2nd line C. line 2 D. the line 2
. Ten plus four or ten make fourteen.
A. with four B. adding four C. and four D. added four
. It was not rare in that people in fifties are going to university for further
education.
A. 90s ... the B. the 90s ... /
C. 90s ... their D. the 90s ... their
. — Will it rain tomorrow?
— Yes. it will.
A. Ten to one B. One to ten C. Ten of one D. One of ten
. The stadium was packed with of spectators who came to watch the game.
A. hundreds of thousands B. hundred thousands
C. thousands upon thousands D. both A and C
. We didn’t arrive at the theatre until finished.
A. the first act B. act one C. act first D. both A and B
. I have an appointment on of June at three o’clock.
A. fifth B. the five C. the fifth D. five
. The child knows that is equal to four.
A. two two B. twice two C. two twice D. twice twice
. T have been told not to tum on the light with wet hands.
A. hundreds of times B. many hundreds times
C. hundred of times D. a hundred time
. I would have paid for my car, if the salesman had insisted.
A. as twice much B. twice as many



C. twice as much D. two times

13. took part in the celebration held at the end of the year.
A. Three thousands people B. Three thousands of people
C. Three thousand of people D. Three thousand people
14. Judging by his appearance, he’s somewhere .
A. in 40 years old B. in his forties
C. in forty years D. in his forty
15. The test being tough, only of the students have passed it.
A. two third B. two-thirds C. second-three D. second-thirds

B (4) : HiA

RES: (5) It was not rare in that people in fifties are going to
university for further education. A. 90s... the B. the90s... / C. 90s... their D. the
90s ... their A% D, “20 #4290 44" /A the 90s( 4/ the 90’s) & ;“ )L+ ¥ FF 4" A
inone’s ... (HFEH) LT,

MIRER: L A LA, TRAASCARXAFFAHMH L E, RE9HE £
&, Bif e B HO9HE £393], 4= Lesson One, the First Lesson; Room 30, the 30th Room %,

2. B EREd: SFRAREA, S FRAFEN; 2 FHA2L AL, S BHE MR s
AFTH S, AXXLPENSH, PRAAEFF", 2T H &, 4 one-third(1/3),
two-thirds(2/3) %, ¥3&W¥,1/2 SR A a (one) half,1/4 31 A a (one) quarter,

3. AF“—A#%",/ one and a half & one ... and a half,4v one and a half months /one
month and a half[ 7 & & #(month F) WL FEH ]|, 2F“—®H " Ma... ortwo[ iZEH am
R /A one] 3 one or two, %= a day or two/one or two days[ Z&E &5 (day F) LT H],

4, %38 hundred( g ), thousand( ), million( & F )%, &7 @ A IR 444 F , 47 one, two
FHTIEGHE TG L8, K5 R4EA B 4 X, 4 three thousand students, 42 % iX £ # 73
YR8, G @k of .. B, J {45 A £ 4, 4o three thousand of students, #-2 %k 469 (#]
# A several FHF) R EZZH(RET RFF)EITHAN, XL H AR L H, 4o several
thousands of students( JL-F % 4 ) , thousands of students( &, T 5 4) %,

5. 5 hundred #5845 , 34 dozen( — 31, + =) Fo score( =) , Y X EH4HH L H W, XA E
# % X, 4= two dozen pencils, two score pencils ¥, H EANENRFAME @R of ... B, JHE43
%3, 4 two dozen of pencils, two score of pencils, [ {244 A Z H 49, 4= two dozens of
pencils, two scores of pencils, ] & T X % R 22 9 M TM A s, A H K, 4= some dozens of
pencils( JU+ ¥ 454 ) ,scores of pencils(k N+ ZHBE/ F S8 E/ XKEFHL),
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11.

12.

13.

14.

15.

Unit S5

The turtle’s backbone and breastbone on the outside of its body.
A. be B. have been C. are D. is
Everyone who takes the examination will receive score report in six weeks.
A. their B. its C. his D. hers
When a person needs to take his medicine, the directions first.
A. each will have to read B. one must read
C. you have to read D. he has to read
Neither you nor he in good health at that time.
A is B. was C. are D. were
Either the teacher or the students your books.
A. has B. have C. needs D. wants
He is one of the students who hard in the class.
A. studies B. is studying C. study D. has studied
Every possible means to prevent the air pollution, but the sky is still not clear.
A. is used B. are used C. has been used D. have been used
Shall we meet at his brother’s which on the other side of the street?
A. stand B. is C. are D. are located
Ellen is the only one of those who have graduated who out of work.
A. are B. have been C. is D. were
The most experienced elected to the leading post.
A. are B. has been C. were D. have been
The farmer is not going to sell his cattle which still lean.
A.\ are B. has been C. is D. has remained
New machinery introduced in the factory to enhance production.
A is B. are C. are being D. have been
Red deer for about 12 to 20 years.
A. lives B. is able to live C. are living D. live
Electronics the basis of all telecommunications systems.
A. have been B. is C. are D. make
of every size upon others which are smaller.
A. Fishes ... prey B. Fish ... prey

C. Fish ... preys D. Fishes ... preys



B/E(S): FIB—H

iK%l . (7) Every possible means to prevent the air pollution, but the sky is
still not clear. A. isused B. are used C. has'been used D. have been used ZEC, #%
3 Every ... means(F— - F8) ,FIB L EA LK HFHPAA L RERBAELEMER,
it C MR A,

HMINE A 1. 3 and KR —4#E,as well as, together with, along with(#o---—#2) , rather than
(MR A),including ¥, An b &8 K4 A 23556t , R ¥k 156932 5 4, 4o Peter as
well as Tom dislikes studying. [ 7R ] -F Peter and Tom dislike studymg 1/Bob, rather than his
elder brothers, was able to solve the problem.

2. BEBEHHAFN RS MR, S L HE R ELE 5 RS RIF— K, 4 There is

a pen and some books on the desk. [ There are some books and a pen on the desk. ]/Either you or

he is to blame. [ Either he or you are to blame. ]

3. AREE ER . EST . 2MFN BN LK, H i (—HMH be) A £ 5, 4w Ninety
minutes is the time limit for the examination. [ 42 Ninety minutes have passed now. ]

4. W and #3M R TFIRL(RS) LAY LER, BHE-AA(SAZR) AL
H,EFHNBANA(S R L) WA T K, 501865 £ 5 HIE 3 E ,Je The singer and dancer
is quite popular. /The singer and the dancer are quite popular.

5. every... andevery..., each... andeach..., no... andno... ¥R &#5 %
#, 3038 — A Ml £ 4, 4»Every man and every woman enjoys free medical care in this country. /

No teacher and no student is allowed to leave before school is over.

6. W many a 545 LR T H & AE L5, XA L, B X B LK, FA £H, 4 Many
a man wishes for such a chance. [ % FMany men wish for such a chance. ]

7. B8R EEG LM, ZHE KX, v trousers/pants (#F ) [ g HLEMBAR], 3
WREH, AT RAMK, THEIHF $145 pair, X 3039692 5 M pair 9 LA KM E
%= The trousers were bought last week. /This pair of trousers was bought last week. /Two pairs of
trousers were bought last week.

8. ATl (ER)Ham(F),MA 4,4 bread and butter ( & €, #2454 )-, needle
and thread(4}+4%) ,cause and effect( B} R ) ,a knife and fork ( 77 ) %, €114 .45 8, ;‘il‘igj i)
%3 ,4%= A knife and fork is on the table.

9. HAFNHZN” “FHZIL “AEA"FRSELERT, LR EANE W L9484
REHEZ AR E K, 4 O0ne-third ( Two-thirds) of her time is spent in writing. /One
percent (Twenty percent) of the professors are from abroad. /The rest of the money is in the
bank. (The rest of the books are unsold. )

10. £ 33& P ,population( A &, Atk A) — A b %Ak, 4 £iE 0 A LA, HALE
J % 3, 4= What is the population of Europe? (Bk# A2 % 1°?)/The population of the earth is
increasing fast. {24 R B “JU 9 Z JL” F M A 1545 8F, population L F B KA (4 % T
people) , 4k £ 358}, 535 Al 4, 4= One-fifth of the population here support the new policy. [ b
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4 4 supports ]

11. ¥ more than one{ R it—/~) & one and a half( —A~¥ ) 5-4h 84 &4 5 0), & B
RA &, 337 A %34, 4= More than one man has told me so. /One and a half apples is left on the
table.

<11 -



